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(1) (+5)—(+7)
=(+5)+(=7)
=+5—7
=—2

(2) (+9)—(+4)—(—=3)+(—7)
(+9)+(—4A)+(+3)+(—7)

\.

= 4+9 —4 43 —7
=+9 +3 -4 -7

= +12 —11

= 41 —47, 49~

J

M1 WROFEZ LRI,
(1) (+3)—(+5)

=(+3)+(=5)
=+3-—5
=—2
K =2
(2) (=7)—(—8)
=(=7)+(+8)
=—7+38
=41
K 41
(3) (—9)—(+2)
=(—=9)+(—2)
=—9-—2
=—11
A, . —11
(4) (+11)—(—4)
=(+77)+(+4)
=+711+4
=+15
K, . 4+15
(5) (+5)—(+5)
=(+5)+(=5)
=+5-—5
=0
Z. 0
(6) (—16)—(—17)
=(—16)+(+7)
=—16+7
=—29
Z, =9

(7) (—12)—(+14)
(—712)+(—=14)

=—1712-—14
=—26

X, —26

(8) (=9)—(+1)+(+3)

=(=9)+(=1)+(+3)
=—9—171+4+3
=—170+3
=—7

x -7

(9) (=8)—(—14)+(+6)
=(—8)+(+714)+(+6)

—8+14+6

—8+4+20

+12

I

Z. +12

(10) (F12)—(+19)—(—8)
(+72)+(—=179)+(+8)

=+712-19+8
=+7124+8-19
=+20-19
=+17

A, +1

(11) (+6)—(+8)—(—4)+(—5)
=(+6)+(—=8)+(+4)+(—5)
=+6—-8+4—5
=+6+4—8—5
=+70—13
=—3

%, —3

(12) (—=6)—(—=8)—(+13)+(+7)
=(—6)+(+8)+(—=13)+(+7)
—6+8—13+7

=—6—713+8+7
=—19+15
=—4

K —4

(13) (=7)+(—=8)—(+5)—(—20)
=(—7)+(—=8)+(—=5)+(+20)

—7—8—54+20

—20+20

0

I




